=31}3x
S = AL
q= )
A e Al =
2015 2015 2015 2015 =zt
= 11X =2 22Xt =4 2 E =2 1% =A oxt=H
(A) (B) (A) (B) A (%)
157,123 162,960 s A 157,123 162,960 5,836 4
A& A 123,780 123,780 ppalll A& A 113,978 114,942 964 1
P NI =t 120,000 | 120,000 =0 74,573 74,573 - -
JEfR =24 3,780 3,780 =g 22,810 22,800 10 0
S g3 g
A& A 2,020 7,856 P 8,333 8,324 9 0
ANYFzeZ 1,820 7,648 Abs| EE R 8,022 9,027 1,005 13
HIX| & F & 200 208 J|EtE= M 240 218 22 9
Melg HelZ A A 25,000 25,000 Zly| A& A 380 245 136 36
golxela
o 3,000 3,000 7| g2 Y| 80 45 36 44
(ZF)
22,000 22,000 3| ofH| 300 200 100 33
== == A A 6,243 6,243 H| & A 11,432 12,736 1,304 11
MAzo| ¥ 78 78 0| 1,290 2,700 1,410 109
M zold +=gH| ¢
= 6,165 6,165 N 2,860 2,914 53 2
(ZHF) TT=E
el e & A 80 80 B22F 2,620 2,193 428 16
7|Efof 20| X
! Pilm |t 30 30 H M3 o2 3,180 3,570 390 12
T e
e 50 50 NEL] 1,482 1,361 122 8
SE=LI & A 2,234 2,145 89 4
Al MH| 198 198 - -




A el Al =
2015 2015 = ZH(B-A) 2015 2015 ZZH(B-A)
2 st = 11X 54 2xtE4 o S = 1AF=4 2XtEA
(A) (B) o= H|IZ(%) (A) (B) oHa= H[E(%)
RpAEE SH| 1,736 1,736 - -
Alda 300 211 89 30
FXH|
Atdd| Abdd] & A 28,841 32,712 3,871 13
EIRNPNEPSIETES 16,795 17,061 266 2
F=1z4
M Abo! 2,000 1,660 340 - 17
{7 s ] ’ )
A ,700 ,303 397 | - 23
SR 1,500 1,500 - -
x| o4 ALE| KH2d
SNt/ 2| 1,200 1,311 111 9
SEAY 1,007 1,196 189 19
Atdzlgr g
of AP 1,789 1,630 159 - 9
| elodat
A 2,850 2,839 M - 0
F5273
X2 Aol - 4,213 4,213 100
NS NS E | 78 - 78 - 100
x| &= 78 - 78 - 100
ol H|H| ol H|H| E | 180 180 - -
ol H|H| 150 150 - -
+=gH| o
"'M\'E 30 30 - -
T T L
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che| o M)
2015 2015
B o = 1552 | 2xxz of chel ¢ 2l
(A) (B)
g A 157,123 | 162,960
Hxasol HxaLol 123,780 | 123,780
PZPN; 120,000 | 120,000 ZAaE z 249 30,000,0009 «43|= 120,000,000
N e 1400009 +38 124 =
7| E} 3,780 3,780 (B AR 140,000% x 127l & 20 = 3,780,000
I 2,00 | 7,856
x| 1,820 7,648 AH s (Aol D) Hoisela 1,660,000
HY7| =g =& ]
(sl ) HIM7|Ee 2 1,700,000
EZAE {24 heby| of La=l
xISiAle x| 23 1250008 «13]= 125,000
SS 223 XY AL "2015
7|8 ALY 272 =X|7| 2 4,163,180%13]= 4,163,180
x|l Abel"
H| x| 200 208 HIX|HEel2 208,300
Melz Mel2 25,000 25,000
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b('% 3,000 3,000 HolMeZ(XHEAD) 3,000,000
=
22,000 22,000 HolMe Z(H|X|ME2F) 22,000,000
olgz JEE= 6,243 6,243
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M MU B FAF
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(A) (B) W= HE(%)
g Al 157,123 | 162,960 5,836 4
ApRH] ol 7H| ~ A 113,978 | 114,942 964 1

=0 74,573 74,573 - - PPlreader) ME{ZH2313) 3,493,0008+117H&=| 38,423,000

7122 (712H) 7|22 1,540,000=127H &+1-@= 18,480,000

7| 2+8] 1,540,000+370 2 »1H= 4,620,000

7| 2H8 1,450,000 <970 &«x1H= 13,050,000

S EN= 22,810 22,800 10 | - 0 |BAIRISEH( L atal) @Eﬁ?déooggfﬁ;ﬂzj 1,680,000

T AR (7] 2] 7| 2HE 140,000 «1270 H+18= 1,680,000

7| 2+5] 140,0009 370 H»1H= 420,000

SE e (Yera) ME{ZH2313) 3,493,000 x60%*23|= 4,191,600

FEFE(72A) 7| 2H8] 1,540,000 «60%+23] »1H = 1,848,000

7| & 1,540,000 x60%*15| 1% = 924,000

e ME{ZF 314,370 117 &= 3,458,070

A7t ™ 2 x| MIE{Z}F 200,000 1171 &= 2,200,000

IESY MIE{ZF 80,0009 «1170 &= 880,000

AR 27 768,710 %13]= 768,710

Mojata| g ME{ZF 1,100,0008 «135]= 1,100,000

AlZtel Z 2 (7] 2 Azt Ed 2R Y= 3,649,150

E%3 4 53 2 BxNyd .
e 8,333 8,324 9 - 0 (2luix)) ElxdFH=520i2 1/12= 5,461,960
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ExZ ¢ AT [
(7] 245 =ZHM=&20{2| 1/12= 2,861,900
8,022 9,027 1,005 13 |=Zoled Z( Ltz 4 5%= 2,133,670
ZojHzZE s (Y 3.035%= 1,517,140
AUt s (Y 6.55%= 99,270
IE2EEH (LA 1.3%= 761,000
AR S (2 HHE 0.8%= 367,280
T oAF (7|22 4 5%= 1,834,740
ZolAHZLEE (7| 3.035%= 1,413,780
| UES (7] 6.55%= 92,550
IE2EE(7] 2 1.3%= 506,710
AR EE (7] 22 0.8%= 301,290
240 218 22 9 JorZ Al H| 218,000 13| = 218,000
380 245 136 36
80 45 36 44 |7 &2 Hy| 44 51021+13]= 44 510
300 200 100 33 |22l 38| 100,0009 23| = 200,000
11,432 12,736 1,304 11
1,290 2,700 1,410 109 |=Li2l &Zoid| 225,0008 «127 &= 2,700,000
2,860 2,914 53 2 MNEEEH| 550,603 13]|= 550,603
WA SAT|EH,EX],
93 = 320,000
UEFFES /ENR/FAR/UER S 1,100,000
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2 E = 1XFEd | 2% FZ of & & & uf o (chel o)
(A) (B) U= HIE(%)
JEIEES Yo EXTFUH/HEE S 942,960
32323 2,620 2,193 |- 428 - 16 |eHEZE 5,0008 »25|= 10,000
Mated 75,0008 «127} &= 900,000
MEERE 302,564
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Aot ¥ M EHE 82,700
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AQEH = 295,000
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- 300 211 |- 89 - 30 |AAE2 ®Al H2|H| 211,200
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MEFLPAFIE] 100,000% 23| = 200,000
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ZoAZFRF 1,660,000
NE T 100,0008d 1A= 100,000
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X| A ALE| A2 _ _
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PNEE RN NS PN A NYET L=, 500,000 13]|= 500,000
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(A) (B) Hg= | H[Z(%)
A S AFRIZHE S| 150,0008 *25|= 300,000
EHAIY 1,007 1,196 189 19 |21/ N=Ees 1,195,611 +135]|= 1,195,611
Atz oi7llat gl of o
of ZAFA 1,789 1,630 |- 159 | - 9 |AFRETHEE 2 AT ALY 1,630,000
el x| 2| of 27| gk A} oA
JH kAL 2,850 2,839 |- 1 | - 0 |A A AZINLAIA 2,839,000
33233 2015 7|EAY a2 s
I|-?-._JE.‘ Al'?:‘ll - 4,213 4,213 100 X|7|-T',;|' XI%A ?:_I{ 4,212,650
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ghatg 30 30 - - |oIRtgtEt = 30,000




